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7 - st SECOND MID TERM TEST - 2022
' Time : 1.30 Hrs ‘MATHS Marks : 50
PART - A
I  Choose the correct answer. 10X 1=
e place value of 3 in 85.073is ..........
a) tenths &  b) hundredths
¢) thousands d) thousandths
% :)%ogo_ """" '5)0.090 Y5} 0.00900 d) 0.900
3. The decimal number which lies between 4 and 5is .......... - V( :
a) 4.5 b) 2.9 - ©)/1i8 3.5
4. If the circumfererice of a circle is 82n th_en the value of 'r’ is _
a)4lcm. \QIF 82cm c) 21 cm d) 20 cm
5.  The unit digit (32 X 65P is J
28 b)iStRrs o d)1
II Fillinthe blanks. | :
e The decimal representatlon of 30 kg and 43 kg is e S Ilgg
S o o 3 e
: B 1002 1000 &+ ..',‘. e P g
o= ol ' ‘
E é'b:g_ ‘Area of a circle of radlus n’ umts 3 et o TR
10, 57 Xx53= 5/@ ...... usmg product rule. <
—7 -"‘7‘5 LA  PART - B .
swer any ten i T 10 x 2 = 20
s 165cm. Express thns helght m metre '
b,e[ 658.37.
"‘:nd the place value of underfined dlglts 28.271.
al form ft’;; 96+ 7 + %'{- -1-6266 % J
ght 8.36 kg of potz qhand Sekar bought 6.29 kg of potato. Which
2 ‘ &
 of the clrcular dlese of radius 14cm.
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The diameter of the bullock cart wheel is 1.4m. Find the distance covered by
it in 150 rotations,

Find the area of the dining table whose diameteris 105cm.
Which is greater 34 or 43?

28 XB“ ‘Xv 54

. Simplify : W

Ifa=3and b =2 find the value of & + ba
Find the unit digit of the numeric expression of 1000010000 + 1111111111

62 x 6M = 6° find the value of ‘m" .

| PART - C ‘ :
Answer any five questions. | g e 563 =15
Write each of the following as'decimal numbers. %

g2 3 D e | . B
')900”01?6*‘1%' )ﬁ‘ 100 1000-" <2

Megala and M’ala boughttwo watermelons welghmg 13: 523 kg and 13. 52 kg
which is a heavier one'? . :

Arrange,in- ascendlng order 123. 45 12354’ 12 43 '125.34, 125. 3

The radlus of a tractor wheel is 77cm Calculate the dlstance covered by it in

" nsions 30m X 19m Wthh mcludes a Iobby on all
fhé playing area is 27m X 16m Find the area

1X5=5
.6cm, YZ = 55CmandZX 5cm.

_i:ﬁat AB = 7cm, AC =  6.5em 24 = 1207,
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